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This Test Bookl ck Ball Point Pen provided by the Board.
= : et consists of three parts - Part I, Part IT and

art TIL. Part1 has 30 objective type questions of o
consisting of FOUR @) ] pe questions of Mathematics
PRt A marks for each correct response.

N ptitude Test has 50 objective type questions
consisting of FOUR (4) marks for each corr]i- 3 ¥
Mark . ct response.
you'r answers for these questions in the appropriate
space against the number corresponding to the question in
the Answer Sheet placed inside this Test Booklet. Use the
Blu'e/_ Black Ball Point Pen provided by the Board m;lu for
w.rrtmg particulars / marking rcs;ro;:svs on Side-1 and
sme-_z of the Answer Sheet. Part III consists of 2 questions
E)any g 70 marks ‘whikch are to be attempted on a separate
rawing Sheet which is also placed inside the Test Booklet.
Mark.s allotted to each question are written against each
question. Use colour pencils or crayons only on the Drawing
Sheet. Do not use water colours. For each incorrect response
in Part | and Part II, one-fourth (') of the total marks allotted
to the question would be deducted from the total score. No
deduction from the total score, however, will be made if no
response is indicated for an item in the Answer Sheet.
There is only one correct response for each question in Part [
and Part I1. Filling up more than one response in each question
will be treated as wrong response and marks for wrong response
will be deducted accordingly as per instruction 2 above.
The test is of 3 hours duration. The maximum marks are 390.
On completion of the test, the candidates must hand over the
Answer Sheet of Mathematics and Aptitude Test-Part I &
II and the Drawing Sheet of Aptitude Test-Part I1I alongwith

Test Booklet for Part III to the Invigilator in the Room/Hall.

Candidates are allowed to take away with them the

Test Booklet of Mathematics and Aptitude Test-Part I & 1L

The CODE for this Booklet is L. Make sure that the CODE

printed on Gide-2 of the Answer Sheet and on the Drawing

Sheet (Part IIT) is the same as that on this booklet. Also tally

the Serial Number of the Test Booklet, Answer Sheet and

Drawing Sheet and ensure that they are same. In case of

discrepancy in Code or Gerial Number, the candidate should

immediately report the matter to the Invigilator for replacement
of the Test Booklet, Answer Sheet and the Drawing Sheet.

Do not fold or make any stray mark on the Answer Sheet.
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1.  The abscissa of a point, tangent at which
to the curve y=e* sinx, xe[0, =], has

maximum slope, is :
(1)
«2) 0

U48)

3

NI wy

(4)

b Leta, b, ¢, d and ¢ be distinct positive

If a, b, c and 1, l, L both are

CR e
in A.P. and b, ¢, d are in G.P. then :

(1)
(2)
)
(4)

numbers.

q,c, e are in A.P.
a,c, e are in GP.
a,b,eare in GP.

a,b,eare in A.P.

3, If the system of linear equations
X+3y+72=0
X +4y+ 7z =
(SIn38)x + (cos? Oy +2z=0

has a non-trj vial solution, then the number

M a, b, ¢, d 991 e T4 ¥ 9= €| afg

2. ‘
a,b,cam L 11 1 21 amiar 9 # € qen
(4 O 7 e
b, c, d U 9 B €, 1 :
(1) a,ceTHTR IA T EI
(2) a,c 7O FE H T
(3) a,b,e U I H €|

(4) ab,cHAME IG F ¥

X+3y+7z=(
—xX+4y+7z=
(sin368)x + (cos?2 O)y+2z=0
1 TF T T €, A siqere [0, ] § v

of values of /H_ving in the interval [0, 7], 9 4% 01 1 e i
IS :
(1) more than three (1) T F iy
(2) one (2) W=
SN )
(4)  three (@4)
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4. Let S={zeC:z(iz =1)=2; +1, lz1l<1}. | 4. =\ S={zeC:z(iz =-1) = 71 +1, |z|<1}
Then, for all z € S, which one of the T AR e Gﬁimﬁqﬁﬂaﬁ?m@
following is always true ? : 4
- ' T T F 2
1 = =
() Rez—Imz > =1 Rez—Tmz>-1
(@) Rez-Imz<0 Rez—Imz<0
(3) Rez+Imz<o B) Rez+Imz<0
(4) Rez<o (4) Rez<0
% £
5. [If J . t 57=f(x) A+x%)y5+C, ool (R CES — = f(x) 1+ x%)3+C
x° (1+x°)73 x> (1+ x6)73
where C is a constant of integration, then % Rl C HHATR o 3= '%»* Fﬁf(x) W% 1
f(x) is equal to :
x X
L = ) (L) 3
1 Saac
2 —3 (2) 5
1 vl Il
A—{I) =4 ; () 6
6 . _6
() — 7 () X
6 lim ((1— x)+[x —1]+[1— %|), where | 6. “ml (M= x)+[x -1 +[1- o), & [x],
3 x—1 .‘? N [
[x] denotes the greatest integer less than x o SR I1 SHE FH Hewd i &t e
or equal to x : hUdl & :
(1) does not exist (1) 1 AT TR €
(2) isequal to —1 2 -1= el
- N I
(3) s equal to 0 3 0% g
: \ & TR T |
(4) is equal to 1 ()2l
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7. A code word of length 4 consists of tWO fafu= e € a1 'ﬂﬁl.
distinct consonants in the English alphabet 3 ford gAagfd & Fehdt €1
- ith i sifeA 3t wH
followed by two digits from 1 to 9, W1 FeT= iEEED '
repetition allowed in digits. If the number 432k gk T
of code words so formed ending with an
even digit is 432 k, then k is equal to :
1) 35 QIR
@) 7 @ 7
@) 5 3 3
(4) 49 (4) 49
8. The sum of the series Soft =L + AR
. 196531171 = 51161
SRR Al 1 :
19! 317! 5151 to 10 terms is T I S, I{EY T
equal to :
219
=" 19
ST )
19!
219
e o 2
20!
220
(O~ 2
20! 220
4 @) e
20!
210
(il
20! 20
w =
U/Page 4 "SPA | )
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9. A line passin
& through the poj ;
meets the line Y+V=g7 = fhpc:{l'nt P(L,2) | o. ﬁgP(l,z)ﬁ‘aﬁmﬁﬁmaﬁ@,‘@Hy:7
3 units from p i theﬂoe istance of aﬁpﬁ?,maﬁ”t@wﬁaﬁ%1 =\ T
satisfies the equation - pe of this line w1 et o et 1 Hqw weh
(1) 7-1'2-6.1:—7-_—0
(1) 7x2—6x-7=0
(2) 8x2—-9x+] -
3 (2) 8x2—-9x+1=0
e (3) 7x2-18x+7=0
(4) 16x2—39x+16=
) b A (4) 16x2-39x+16=0
e function f: [1, @ [ [1, ® [is | 10. o W@ f: [1, » [> [1, © [ 36 THR
defined by f(x) =3*+~1); then f~1(x) is : afearfe % i f) =350 & & 1) % -
: (1) not defined 1) Tfanfig 75 &
1 \‘,‘\(1—[) ‘l““(l_])
2 A L.
e A e L) fdiosn
(3) j( — 1 +4logzx) (3) 5(1- \j1+410g3x)
‘ 1 R 1 A
(4) 2—(1 /1 +4Joggl_) (4) 5(14- v1+41083~1)

11. For a positive integer 1, if the mean of the | 11. T® YAYUTih n & fau, fgu8 (a+b)2—3 *
binomial coefficients in the expansion of WHR H TOTishi T HIEA 16 ], T n SR ®:
(a+b)?"~3 is 16, then n is equal to :

1) 9 (T
@) 4 (2) 4
(3.5 (3 9
4) 7 4) 7
T @ o fT S
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sree FHIF ydx — xdy

_1 7 Eg IR

12. The solution of the differential equation 12.
ydx + xdy  x? oV

5, w1 y(0) =
ydx — xdy y4 g
satisfying y(0) =1, is :
| e A
(e =3y°(1- e¥) (1) 2=y ( i )
/@) 2 =33(1- ) 3 2 =3°(1- ) |
() :_'3_'/2(—11-1”") (4) J.’} =3‘|/3(—] S (:’Iy)

Sinx cosy SinXY +cosy +1 sinx cosx si Y
; ; > nx +cosx + g
132 If y(x)=| 23 17 13 ’ 1

A3, Ife y(x)=| 23 17 13
L L 1 1 1

: 2 A
»\'FR%,H?:-L/W TR S - 3
hi™




14. For all values of ¢ ¢ [0, -721} 14. pe (0, 1;-] F gsft | & foru srege
the determinant of :
g 02 sl —~2  tanf+sec’d 3
—.2 NG esoche 3 —sin# cosf sind
‘51;“9 cosf sing -3 g 3
%5 Sed : ;
: =1 gRfore waen fom e & fem @, sm ¥
always lies in the interval -
;2119 5 19
o (&%) o (3%)
72 7 21
@ [3%] @ [3%]
3) [ 5] (3) [3,5]
4) (4 0) 4) (4 06)
15. Two vertices of a triangle are (3, —2) and | 15. afz % st & 2 ¥ (3, —2) F (-2, 3)
(=2, 3), and its orthocentre is (—6, 1). € A0 T AahE (—6, 1) ®, A By =
Then the third vertex of this triangle can dre v o v w fea @ @ 9 9w
NOT lie on the line : e:
1
(1) 3x+y=3 (1) 3x+y=3
(2) 6x+y=0 (2) 6x+y=0
(3) 4x+y=2 B) 4x+y=2
4) 5Sx+y=2 (4) Sx+y=2
|
,'J 16. If fis a function of real variable x satisfying | 16. A2 fT% ardfas = x &1 Cﬁa. FT = f®
,’ flx+4)—f(x+2)+f(x)=0, then f is a fa+4)—fx+2)+f(x)=0 F HI= FT@ &,
‘ periodic function with period : T'hf T 3l o & foreeh sead-+1a ®
(e 2 (1) 12
2 6 G
©) 8 g
(4) 10 G
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; 18

n
19 1 (14 3 2p|| STHAEH
S 4 17. cot| 2 <ot { p=1 J]
17. The value of cot Z cot 1854 Z 2p n=1
n=l1 p=1 i
187
21 ‘2’1
W5 L
19
19 =
= (2 20
20 20
(1) s ® 719
4 19 19
@RS T
18. If the line x=g bisects the area under the | 18. AfE @I x=a, T Yy = ij, 1< x <9'a
1 X5
curve y = —,1< ¥ <9 then‘d i ; PR AT L
ey = Y =9, then ‘a’ is equal A= o SA%A & THEHSH Sl %, ?ﬁ “d
to : ST 3 a
e 9
i M7
' o
S ® 3
9
9
(B) = 9 1
> @) s |
9] \
5 |
@ 2 ; |
9 J 4
k- (4) g
age 8 SPACE FOR
: ROUGH WOR G,
¢ . x~F : ' |
3 (3 [—] ~1 4 0




) 19.

Forall d, O<d<, which one

Al
f 4
| > points is the reflectmnootfhetliouow?g 19 B d, 0<d<1 ¥ forg, Pt A 4 o faig,
:J (d, 2d, 3d) in the plane : € point ﬁﬂg (d, 2d, 3d) =1 fagsi (1,0, 0), (0, 1, 0)
f the points (1, 0, g), (g, 1, g oo el: 910, 0, 1) & ekt ST A o A i
~; 0) and (0, 0, 1) ? 1)
‘ 1
2
(1) (_+d"—2d_]
-’ 7 3 : -—+‘1J (1+ig—2 -2
: 3 M |3 s d, 3+a’)
2 2
(2) (“—3d,——-2f- ]
3 3 a, — —dq (_2__3(13_2 E_)
3 @ (373 3-2 3 -d
() (-1 +3d, 24, 1
. o ’5“’) (3) (—%+3d2d +d]
(4) (34, 24, a)
4)  (3d, 2d, d)
20. " 1 "“for .
Or a matrix A, |A|=6 and |20. =fe AT A F fau, |A|=6 =
| Kt 1 g5
adj A=|4 1 1 , then k is equal to : adjiA=|4 1 1|8 VKL :
Il ) -1 k 0
@)s2 1y 2
(2 -1 2 -1
(O)ESC 3) 0
()R] (41l
21. The foci of a hyperbola coincide with the | 21. T& ﬁmw Eall it Teh é‘\'ﬁ%
2 5) i)
foci of the ellipse "}g + 1_/)* = 1. If the % + L =1 F 7fE F e ¥ ofe
eccentricity of the hyperbola is 2, then the dfd WaAd &l Iehgdl 2 §, 91 39 Afdueea
equation of the tangent to this hyperbola Ean (4, 6) H TSI STl T3 @1 1 HHIhL
passing through the point (4, 6) is : 8
1) x—2y+8=0 (1) x—2y+8=0
(2)i 2x—y—=2=0 (2) 2x—-y-2=0
2y =
(3) 3x—2y=0 (3) 3x-2y=0
4) 2x—3y+10=
(4) 2x—3y+10=0 (4 2x—3y+10=0
U/Page 9 SPACE FOR ROUGH WORK / T &t & fetq s :
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A—(Av~B) I il

3 : 22,
22. The negation of A—(Av~B) is : |
(1) A-(Ar~B) ®F THQ i
(1)  equivalent to A—(Aa~B)
(2) T FAH &
(2) a fallacy
3) T TRIH C
. (3) a tautology (¢ 3
(@) (Av-Bjd F SR
(4) equivalent to (Av~B)—A
2 < ¢t
2 2 SEf[t], t § FH
23. The integral J’[J-Z]dx ([t] denotes the | 23. WHIHA J‘ [x*]dx. (
0
0 fafde &l ©) SR
greatest integer less than or equal to ) is A HETH qulich i
equal to : e
U e e (1) 6-+v2-43
@ 3-2 2 3-2
) 5-243 3 5-243
4 5-v2-.3 () S et yor oy
24. From a point A with position vector 24. ﬁc@ A Tog= frafy Tfeyr p(/;‘\ + }\ -+ 2) %,
oy 7 ”‘) i g .= A A
,”(f t ]+ k], AB and AC are drawn HABTMAC A9 @Al r = & +/l(z' +
perpendicular to the lines , - f +A(;‘\ + ;) g = E =+ ju(? - }\) & e i
and r = — /\ + ,u([ - ;), respectively. T ® p b1 Tsh HH &l T -
A value of p is equal to :
()22 ()2
(&)~ 1 (3)EN=
I~
e @

U/Page 10
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26. The plane through the intersection of the

planes x +y+z=1 and 2x+3y—z+4=0
and parallel to y-axis, also passes through
the point : P, +&P, 29
x(1+24)
)
o v €38
(2) 201-4)
(3)

—\—YARO
(4)

(3,0, —1)
(=350, #=1)
3,0, 1)

l\m

4o Ll
s 3 ;7} i
(& 3A 0N

27. The number of integral values of m for

which the equation,
(1+m?) x2—2(1 +3m)x+ (1+8m)=0, has

£0)

26.

27

A PQ TREe y2 = 4x FI T Y ey 2
M PQ wE W g W Fx
Vo +4 =0 W feor &, 1 Sfran pQ %1 e
€

g
@ <
@ =
@) 36;/3

TOAEAl x+y+z=1 T 2x+3y—z+4=0
% gfaeeed ¥ el S aren 9uad, Si
V- éﬂ?m%,ﬁﬂﬁg@ﬁiﬁ(ﬂl%,a?
T

(1)
(2)
(3)
(4)

(3,0, —1)
(=310, %)
(3,0, 1)
(=3,0,1)

m % 31 QUisId "l h1 qed, o9
e wHieR
(1+m?) x2—2(1+3m)x+ (1 +8m)=0 1

no real root, is : Eﬁéamﬁﬁ;%qﬁa%
(1) infinitely many (1) =
) 1 @) ey
(3)53:2 (3)a2 3
4) 3 4) 3 TR
U/Page 11 SPACE FOR ROUGH WORK / T @rd o f S ?ﬁ
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m‘lm@armﬁEam T

x)r s : : b
28. Let p(x) be a real polynomial of degree 4 s ::Lp(qﬁ S L 2 MEa B
having extreme values at x=1 and x=2. x) A E ar p(4) ) ST e
If lm-(l) M =1, then p(4) is equal to : 11—>0 ¥ : e
=0 2 :
(1) 64 i 3
8 L |
2 8 (2) |
A 16 s 3
ot o (4) 32 i 3
.,;‘ Pr‘
(0 3
3 3 n ey = 2 i
29. If Z ——iz1 C,n 1 =35 then nis|29. TR - (”Cj +@r J 42 T
GRETGIR L 110 o o 2
equal to : t: . "‘
F 13 (L 11#
2 10 (2 10 .
@) 11 @) 11 J 1
b
@ 12 (4) 12 §
§ 3
30. A box contains 5 black and 4 white balls. | 30. T 59 H 5 THTeil 991 4 THe e & | -ﬂﬁﬁ, ‘
‘A ball is drawn at random and its colour qlg=341 Teh T TeRTedl T8 aen SR T #E
1s noted. The ball is then put back in the foran 11 3| Tig i, 79'@ Taqdia w1 i . f
box al.ong with two additional balls of its Al e % Wy I § Ay 2w ﬁﬁ .
opposite colour. If a ball is drawn again T AT Ifc 999 H QU g IEEASIRIE ﬁ‘?
from the box, then the probability that the IHF Fe T F HEiED ifrehan © : b
ball drawn now is black, is : & ’E
3 [
1) 5 = 3
99 -
7 L 268
oy '
ST @ = 8
11 i
] 3
3] ]_1_ (3) i 5
53 4 :
i 2 F
AN (4) -;—3- 3
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: Part IT / ymr 11
| APptitude Test / sifirefy Titgror

Which one of the answer
three problem figures ?

Directions : (For Q. 37 to 39),

figure will complete the sequence of the
|

‘f @ : (731 @ 34 F o),

| WW#’?W—#W?#WWWW'ﬁW@
! HIHH (sequence) R & S 2

Problem Figures / g ST Tarar Answer Figures / 3T S

IV
-ReE: Sdm e
(1) (2)

(3) )

2 & -
(1) (2) (3)

4]

A B =2 p P

(WL iie) By @)

5 5 5 -

1) 2 (3) (4)

&
U/Page 13 SPACE FOR ROUGH WORK / 1% & & faw wvg




from amongst the answe, ey |

rect 3-D figure . Urey ' pro
Directions : (For Q. 35 and 36).  Identify the €O nc: elevation, as given the problemt figimeigs b
ich has the sam ) o arrow.
lu;]:c[; oking in the direction of the arqﬁﬁ# o Fﬁ?qﬂ - l
s 5 5 ST 7T TR s
A9 : (W35 311736 & forg )1 3-D 3w STHTT forer & |
e v ¥ STF I k}
Problem Figure / Answer Figures / 3 sHladl
F¥7 STl T
7 T Al f
=7 ) @)
(1) A |
E 1
36. %
o
(1) (2) Nt g (4)

Directions : (For Q. 37 to 39). The 3-D figure shows the view of an object. Identify the corp

front view from amongst the answer figures, in the direction of the
arrow.

3-D mwﬁﬁ'wm%wmaﬁﬁwm?/ i @i fem
H 3@ 5T WWWWWWﬁ'@WI
Problem Figure /| 397 STFT Answer Figures / 3w ST

] [ -
S
(1) e

(3) (4)

a9 : (7 37 @39 % form )

37

U/ Page 14
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problem Figure / J¥7 3irgsfer

n
i) i

W)}‘ f 38
! A
]
i
i L /\[/\/\\
39.
7

Directions : (For Q. 40 to 42).

fR9r : (7. 40 @ 42 & form )i

Answer Figupes / ST rFfaar

Bei il e

@) 2 () @)

(1) (2) B (4)

The problem figure shows the top view of objects. Looking in the
direction of the arrow, identify the correct elevation, from amongst
the answer figures.

F¥T STHIT J TG F1 FR 5v fa@rn 7@ 1 ak #i fovw ¥ a@d
§Y ST SIFladl 4 & &l 7@ g9 Yo7 |

| Problem Figure / Answer Figures / 3t STHiaal

F| ¥ 3‘77?’_/%

U

: ; 40, U D D_
| |

7~

OO

Allh O h Oldlh s
) ) T @

(2

" O@O Mﬂﬂrﬁ F m

Wi (3) @)
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orrect view of th
Directions : (For Q. 43 to 47).  Which one of the answer figures shows 'the (& o f the
problem figure after the problem figure is Openea up :

PR (743 §47 % fow))  3-D 597 s7Fld 1 @i T, WW&F}WW@T,

Problem Figure / 97 37755‘7?[ Answer Figures / ST 377§"ﬁ277 17
% __ L

—] =5 A

: : ;; :.1

A I_l__fl_‘ ﬁ .r.';'-:!

ARl

5

43, f % — — e
— = i

bt

N8 2) (3) (4) L

o

—

—J

— £
44, [% EL{ 3} 53}
Sl
(1)

el §)

GH WORK/W?W&%%EW




problem Figure / wos HrFfy

Answer Figures / 3wz It

— o i o=
- 17 LR bl

] ] ] £

1) o 5 =

: @ N )

[T

® [

ok
]
S
]
Y
& T |—

[ ]
[ ]

| N

=
@

&[]
© UII]]

QWH [EF =t hfE
AR
e
e

Directions : (For Q. 48 to 50). One of the following answer figures is hidden in the problem figure
in the same size and direction. Select the correct one.

B : (W48 @50 & fow)1 719 & 70 SR A H @ T S A9 Sk frn & g9 ©9 @
Tv7 3Ffd H g9 &1 FI9 q Hel & g
) Problem Figure / e 317??/%/‘ Answer Figures / S 3775»"/%@?'

f’ 48, ﬁ N Q @

| g @ @) @
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: FeT SHITA
Problem Figure / H¥7 SFA Answer Figures /

DAY
é@@ AN e E

M @ .

- K, an G e

S
(1) R G)

; D ; low in the
Directions : (For Q. 51 to 54). Find the total number of surfaces of the object given below
: problem figure.
39T - (7 51 & 54 % o)y

¥ STy # Freariera 7w 4 wa) % e A T Fd |
Problem Figure / ¥¥7 3fIhid

§\\-// ;4//
1) 18 (2 17 3) 19 (4) 16
(e 11 @ 5 @ 7 (@ 9
53,
(1) p2d 2) 24 3) 19 W 22
U/Page 18
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pirections : (For Q. 55 ¢o 58).

fder : (%55 B 58 % o ),

problem Figure / Ho7 STTH I

LA
J\“ﬂ
‘\'\‘_' ~ ‘ : = j

>
<~

55. < ("I RS

[ S

N~

57. /NS LS
SN

17

(&) ‘19

(4)

The 3-p problem figure shows the view of an object. Identify the

correct top view

from amongst the answer figures.

3-D 797 stipfa % ua ag & uw gvq # fewrr T 1 9w 98
IR TV, IR TFH T & T

Answer Figures | 36y ClEace

f

&

¥

B
(1)

i
M)

(2)

&

(3)

E

(4)

(4)
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T Directions : (For Q. 59 to 65).
T - (.59 @65 % F7T) 1

Problem Figure / F¥7 g
X

X 1)

Which one of the

with respect to
: st @ T I P

(1
)7

answer figh
X-X7

yes is the correct

®)

(3)

(B
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problent Figure / ¥¥7 Sty

X
(1) (2) (3) |
& X 2 a
: h
! R
1) . | )
| @, @ “g
WORK / T &4 & ferg e |
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66. Interior of any room will appear larger 66: - fermé 2 adl 87
when painted with which colour i
| ay e
v(1)  White colour
(2) Grey colour P
(3) Blue colour I
(4) Black colour (4) TN
67. Nalanda is : 67. el T
(1) A Fort in Bihar (1) e ¥ fofet €
(2) An ancient town in Sri Lanka (2) et H GO TR E
(3) A Temple 3) THfe
_A4)  Ancient center of higher learning (4) TE I STEATA W A ¢
68. Which is best used as a sound absorbing | 68. HE TerY eafA- ey % foq, faur
material in partition walls ? TR H T SIS T4 § S Sl © 2
(1) Stone chips (1) YR & TFHs
{2)4 Steel 2)
‘ﬁj e ool (3) L (Glass-wool)
(b(f Glass pieces (4) ¥ =
U/Page 22 SPACE FOR ROUGH WORK / T% %4 % fere wrg —



of India : tsin which State | 69. g # T stferer a9 form wow 5 %2
(1) Himachal Pra d
i (1) feur=e wewm
(2) Uttar Pradesh
(2) SWyw
3) Karnatak
% : (3) At
4) Madh
(4) adhya Pradesh A e
70. Which one of the following is not an | 70. T ¥ FH 1 ARER TG 2 ?
architect ?
(1) Hafiz Contractor 1) L
(2) Raj Rewal Q) T EE
\/(4) Zakir Hussain (4) SRt g8
71. Which person is famous for the extensive | 71. W 4 %2 & ° fafaud | W
% ? 1 T Al JEg ® ?
brickwork in Kerala
ind (1) AT e
« (1) Achyut Kanvinde
(2) G S
(2) Laurie Baker
(3) TS HIgRR
(3) Hafeez Contractor
(4) =ed B
(4) Charles Correa
‘~—~) HWORK/WM%WW

ROUG
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72. Eiffel Tower is located in :
| 1)
(1) Beijing
2) e
(2) London
(3) ST
(3) Australia
o 4) URH b
(4) Paris .
| : vt A A e
73. Shahjahanabad is a part of which one of | 73. mﬁf@ﬂ;ﬂﬁ frefafad
the fOIlOWi_ng cities ? fee e
(1) Allahabad (1) SeIRES
(2) Lucknow (2) TEIS
(3) Delhi (’J,) ﬁr@ﬁ
: (4) Aurangabad (4) sirTETe Ll
74. The temple of Angkorvat is in : 74. 3HRAR :
(1) Cambodia (1) Emﬁfgmﬁ%
) Q) e
+(3) Vietnam (3) T %
(4) Myanmar (@) B

U/Page 24

SPACE FOR ROUGH WORK / T wrd & fore e




8 5.

Whi
iich one of e following i
IS an

Earthquake resistant Structy
re ?

1)
(2)
V)
(4)

RCC framed

Load bearing brick walled

76. Howrah Bridge is :
(1)
(2)
(3)

v @)

Resting on brick arches

A steel structure

Resting on concrete pillars
Cable hung structure

77.  The famous work of Leonardo Da Vinci

1S :

The King

Cleopatra
Elizabeth

Mona Lisa

ated on which river :

78. Aswan dam is sitt

o ()
@
®

Irrawaddy River
Amazon River
Nile River

4) Rhine River

(4)
R RQUGHWORK / T
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75. gwmﬁﬁﬁﬁﬂﬂm%qﬁm%m
?

ATHeI-To] Tk § Teodi =t =08

firgt T | st e

TR Ukl Tt 32 T e

76. %iaolaﬂw .

(1) ¥z =t = o femh gam
A F =5 ° e G ¢

77. el @ foidh # ufes FHE

sy ity e e T fe 2
E
TS &
e 7
T

78.
(1)
(2)
(3)
(4)

Lf RIS BT
wrd & fog e



79.

80.

Buland Darwaza is located in :
(1) Golconda

\/(2) Fatehpur Sikri
(3) Red Fort

(4) Agra Fort

Which one of the following is a sound
reflecting material ?

(1) Cotton Cloth
(2) Woolen cloth

(3) Wood

/(4) Mirror

-00o0-

79.

80.

(1) Fdr FIE
PRI EE!
(3) wHS
(4) IS
-00o0-

SPACE FOR ROUGH WORK / % @14 & o sig

U/Page 26





